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On what are you relying, on this auw; this 2vw is merely a potsherd

OVERVIEW

In the case at hand, the Pt initially claimed that he has a 2uw (which would have
been 0™ pn). The 2¥7vn argued that it is a 7> 0W. In response the P 11 admitted
that it is a 7”1 7vW; however he lost his original valid q0w. 727 ruled that the prmn
has a n for he need not have admitted that it is a 7> vW. However, 701 20
disagreed and argued that the 70w which you are relying on is a a7 q0w.
Seemingly 701 21 is not responding to s’7727 argument that the VW Yv2 has a wn.
This mdo1n will offer three explanations why the 131 1s not effective.

nooIN asks:
—Nn NYIYN NIVY 99N 3 INT 192 NINNYT NN

It is astounding! For the “vwn %2 should be believed with a 1x»; for he could

have claimed it is a valid 2vw. If the bearer of the 2vw would not have admitted that it is
indeed a false "vw, but would have rather maintained that it is a valid "vw, he would have been
awarded the property. Therefore on account of this 13°» we should believe his claim that ‘I bought
it from you (and I lost the original valid "vw)’.

mBooIN answers:
— 211191 208119 1191 19599N K97 95791 5293 PNYY 13529 NI
And the 2''2"1 answered that we do not apply the rulings of a »» to extract

monies [from its presumptive owner];
— NP 7O9¥2 NDINA ¥PIPT B2 1PN YRR PN NINY NN

(And) [For] the fact that the 2wwn 9va is in possession of the property is
meaningless; the J0wn 9¥2 is not the prmn for land is presumed to be in the

possession of its original owner -
— DI9N) 7 7N NOYYN RIVY MINY NNYYA D272 NIN NIPIN NI 90V 19 PRV 1D

Since he has neither a valid "vw nor a 711 that support his contention, but

rather merely the words which he says that I had a valid "vw and it was lost.
Words alone without a 7211 or a 7vw do not entitle anyone to be considered a 1% in a property.

' mooin is (seemingly) merely repeating s'727 argument; indicating that no» 21 did not properly address the 1
argument. N1901N however, does not explicitly state that 701 27 is not responding to 2"¥1,727.
? The reason is that in order to extract money from the owner it is necessary to be certain that the monies are due. A
131 cannot offer this degree of certainty; only two 2°7¥ can.
® The n"37 M7 amends this to read X1Iw 70T INRIR 10N,
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Therefore since the QW Hva is not the prmn; but rather the T¥7vna is the pin in this case, for he
is certainly the Xnp X1, we cannot apply the 13 principle here.*

mooIN anticipates the possible question that in any monetary argument someone is losing money;
every 131 should be considered a X112 1. mooin will clarify when a 2n is effective.
— 10993 75 DY 1KY 91095 DIDW 1IN PITNNY NON 1191 13991IN XD

And we do not apply a % only to maintain money that is in one’s possession,

which he can exempt himself from paying out monies to creditors through a .
This example is discussing a case where one claims that the 277 %¥2 owes him money. The 9v2
13117 can be exempt from paying this claim through the °7; since the money claimed is in his

unequivocal possession.
— 199 %15 HY 11PY D152 NT IN NN HIDAY N2 N NPIN IN VY 1Y W ON 55103 SN

Or if you will, a wn is also effective if one has a "vw or a 7P concerning
property and this 2¥7v» comes to invalidate his proof; by claiming, for instance,
that the third party seller never owned this property, then this P can
substantiate his claim through a ya%%. npoin offers an example —

— 1PN %Y NINYIANY 19151 359 IIN S¥3 ONT 1191 735 NIaT 1T P M5
As in the case where the 117 claims concerning his seller that ‘he bought it from
you in my presence’ he is believed with a "% for he could have claimed ‘I

bought it from you and I consumed its produce for the three 7Pt years’. In this
case the ownership of the field is being contested;’ nevertheless since he has a 7pim, the Ww»
allows him to retain the field on the basis of the 7pim. However a 13°n does not have the power to
enable someone to extract money or property that is in someone else’s possession.

mooIn is not satisfied with this explanation of the 2"2.
— NYD %90 DIV INDT YW *NYTNA 590 NPV YWI9I RY1 PNY 135399 NI PN

* 7121 may be of the opinion that since this is a P>nw *¥a X7 Wy, it is more effective than a regular 1» and can be
utilized even 1van X°%1732. See 1 71"7 R,2 n"2 N0OWN. See footnote # 8.
> moown will offer another example where 13 is effective even in a case where his presumptive ownership is not as
verifiable as in the aforementioned case concerning his money
® It seems evident from this n19oWn that the claim of 77 MP 7377 RI1ATT RNP2T X°1997 is not believed on its own merits;
only on account of the 13 of Xnar 7. See X7 7"7 R, '010 (TIE footnote # 2).
" 1t is not that clear who is the pTmn in this case; whether it is the p>mn (who lived there for three years) or the 7yyn
(who is the ®»p &71). Nonetheless since the “¥7vn is not a definite prma, the 2o is effective.
¥ Some commentaries maintain that according to the 2", the dispute between 501 271 7121 is whether this is
considered a X¥177 13 or not. 727 maintains that it is not a X°%1777 131 since the P initially presented a "W which
would have given him possession of the property. 701> 27 replied that we cannot consider him a P11 on account of a
a1 0w, This would seemingly answer the s™"3 objection. However the °"9 argues that if the basis of s'101° 29
objection is that it is a X*¥1777 13°n, he should have stated that ‘explicitly’ (in addition to perhaps also explaining why
it is considered a X177 131 on account of the 7> W),
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However the >''1 is not satisfied with this explanation that 701> 27 is discounting
the Wn since it is a X¥117 W, since 0 17 does not explicitly express this
reason of X°X17% °n; but rather 7o 27 claims that X1%va Xoom Xww X7, this

indicates that it is not because of this explanation of X°%17% 1, that 70 21 dismisses the
"n.

mooin offers a different explanation —

— NI X9 12299X RDT 0 297 RNYLT PN 129299 AN
And the ''1 is of the opinion that the reason no1° 29 maintains that we do not
invoke here the rules of 13°%, is that —

— NIDY RN 99 NYNN 9P WYY TA81AY NNN PY 15 BN NIN 193 NN 199 1991 1999
since here the 711 would have no 3 unless he initially lied; for it was
necessary for him to initially lie and to claim ‘and here is the 70¥’. The only way
the p>1mn has a 2 is because he clearly lied initially when he said '®70w &™'. The 13°n is that he
could have kept up this lie. We cannot base a 2» on a lie.” In a regular case of wn (for instance
J0IRIT W2 °nAnn) the original claim (°n71m) is not known to be either a truth or a lie. Its
truthfulness is established through the power of a n. In our case however, we begin initially

with a blatant self-confessed lie on behalf of the n7 va. A 131 is not effective under these

circumstances.°

Mmoo offers another explanation why there is no effective 13 here:
— VI NN NNT DIYN I RO 199NN RY 95N DIVN 923 ON

Or we may also state that the reason we do not employ a °» here, is because

he is retracting his original claim -
— NYOY N PO XIPIYNT
For initially he claimed ‘and here is the 9vw’. He based his proof of ownership on the
(false) 0w -
$99 N NOTYN RIVYW RINX NI RNHYA XADNT NI 12 91N N

And now he is retracting this claim and he admits that the 0w is a X252 Xoon

but rather his new claim is that I had a valid 9¥®. A person may not change his
arguments in 7"2, when the latter argument contradicts the former, as in this case.'! Previously

? According to the >"1 this is what 701" 27 meant when he said X70W XX n>10 *XnR; the basis of the 1°» is the (false)
quw that the p>11n introduced originally. However this 70w is a X27v2 Xo0m, and we cannot base a 131 on a lie.
1% A popular explanation is that the purported purpose of a ™ is to prove the honesty of this individual. However,
here the 1377 Hv2 is showing that he is not honest.
" qov 21 is saying that originally you depended on this T (X70w XX N2n0 *XnK); however now you can no longer
depend on this VW (since it is a k1?v2 ®20M). You can therefore not accept any conflicting claims (even with a 1°n),
since it is considered to be a 1101 M. See WX QWA NXPH TVW.
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he stated ‘this is the 7vw’; subsequently he admits that it is not a valid "ww; but rather I had
another ww.

SUMMARY
mooin offers three interpretations why a 13°n is ineffective here:
1. Tt is a X°¥172 won. 2. It is a wn that is prefaced by a lie. 3. He is a 1101 .

THINKING IT OVER
According to the °"9, what are the reasons that 7127 disagrees with 701* 27?
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